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Subtraction, 3 digits (no regrouping)

Subtraction Practice Worksheet

Find the differences

496 — 320 =
581 — 1=
347 - 220 =
35 — 4 =

760 —60 =
690 — 560 =
896 — 6=
195 - 31 =
957 — 3 =

757 — 34

541 — 30

126 — 3 =

247 — 111

942 - 2 =

324 — 12 =

968 — 420 =

223 - 123 =

957 — 636 =

679 - 5=
508 — 6=
750 — 140 =
851 — 0=
198 - 30 =
236 — 115 =
685 — 73 =
383 - 223 =
885 — 1 =
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C8Leanig
Subtraction, 3 digits (no regrouping)

Subtraction Practice Worksheet

Find the differences

496 — 320 = 1/6 757 — 34 = 723 679 — 5 = 674

581 — 1 = 580 541 — 30 = 511 598 — 6 = 592
347 — 220 = 127 126 - 3 = 123 750 — 140 = 610
35 -4 =31 247 — 111 =136 851 — 0 = 851
760 — 60 = 700 324 — 12 = 312 198 — 30 = 168

690 — 560 = 130 968 — 420 = 548 236 — 115 = 121

896 — 6 = 890 942 — 2 = 540 685 — 73 = 612

195 — 31 = 164 223 - 123 = 100 383 — 223 = 160

957 — 3 = 954 957 — 636 = 321 885 — 1 = 884
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